If the sequence |s convergent then

Select the cormrect option

it is bounded below but may not be bounded abave.

O

it is bounded above but may not be bounded below

it has two limits.

it is bounded. V
O
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If o) ve bounded above and does not diverge to — 20, then there is o unigue res! number & auch that
dfe s sy < 8 48 — == —=

vlwot the correct apilion

1 Jor small n

Jor large n
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The senies SS\sum.{n=0"unfty rn\gquad-1

Select the correct option

O

divergent.

convergent and converges o l_l:

o | ©

convergent and converges o 5.

convergent and converges to T~
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Let $mo = A and S0 = B, whore A and B arefinste Thew i“"'
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